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XA YA XB YB YC MB YD¯
2 ° −6 −4 1 ° ° R±4B4=²;E4 R L

³
2 ° 6 5 1 ° ° ´µ¶;B>9 · L

¸
−8 ° −4 −1 2 ° ° ´µ=;E4 o4=:4=²D

¹
2 ° −6 −4 1 ° ° º »µB ¼½7D

¾
6 ° −2 2 1 ° ° 34A4<9E R½;>=;?

¿
−19 ° −11 −1 5 ° ° 3;@½DBµA7B4 RBB4

À
10 ° −2 3 3 ° ° Á464½>7B R<:;@

Â
−7 ° −15 7 1 ° ° Á9¶½9E4 N 4<»4<7:4

Ã
−13 ° −5 −3 3 ° ° Á9½;=B7>9E ´½;Ä

¯Å
8 ° 16 −9 −3 ° ° Á9<9:>7B ÆL

¯¯
5 ° 13 −9 −3 ° ° Á9C ;½;E4 R L

¯³
−10 ° −14 6 3 ° ° Á<Ç½9E R½;>=;?

¯¸
2 ° 6 5 1 ° ° T;9B;B>9E4 È L

¯¹
7 ° 15 −7 −1 ° ° N 4@;59E P4@7B

¯¾
3 ° 5 5 1 ° ° o7>µ½7B4 R L

¯¿
24 ° 16 1 −5 ° ° ·4E½9E R L

¯À
16 ° −8 3 3 ° ° ·4»7B É L

¯Â
11 ° −19 −11 5 ° ° ·;<;E9¶67>9E4 o L

¯Ã
−19 ° 11 −1 −5 ° ° ·95ÊD6;E4 R L

³Å
−7 ° −11 6 3 ° ° ËE7<»µB R½;>=4B5<

³¯
14 ° 10 0 −3 ° ° Ëµ54>9E P;59<

³³
−19 ° 11 −1 −5 ° ° Ëµ54<7>9E ËED:9=½4E

³¸
6 ° −10 −4 1 ° ° SDÄµ: Ì½7¶4E;:4³¹
−3 ° −5 −5 −1 ° ° P9@;B>9E Q½²D

³¾
7 ° 11 −6 −3 ° ° È4<½4@9E R L

³¿
−11 ° 7 0 −3 ° ° Í;A<4B9E4 Î L

³À
−1 ° −5 3 0 ° ° Ï 7<9>9E4 N 4<7D
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